>

2020 B+AEINSS BB A B EEHE(EE)

2020 Sixteenth International Mathematics Contest(Taiwan)

o
i
by
iF:
by
s
&

HollRER] < 90 Jrd B ¢ 100 5

(5 IR ] el KR Bl dr A 20 B )



HLVIN

2020 EHAE INSC IS A SEEHE(GE)

2020 Sixteenth International Mathematics Contest(Taiwan)

- ERA(FAL A R 28 4)

( C)HI. 3% : 18x37+36x27+54x3= .
(A)1780 (B)1790 (C)1800 (D)1810

<fEAT>

J 34 =18x3T+18x54+18x9=18x(37+54+9)=18x100=1800 -

(By42 v3e- g 2#300p £ #3528 - X 4Kk2
B3 3 4cd I - F 9 EI B 2T BT 4 426 20 4 - 78
o BN R i -
(A)82 (B)90 (C)86 (D)84
aie>

dok E PG fe S 0 3 ded S 0 RIS R - B R AF T 6-4=2
Yoo 1R H B T RS A S FeR 204 - A AT £
20+(2x3-4)x(4+3)+20=90 4= -

(A )33 T 6 HFRAS BHTEF- 2 FefE e - = TR & i
> PR FE R SN
B0 6 9 3
P#¥:9 8 7 6
(A)16 (B)15 (O)17 (D)14
<fRHT>
Bt B e 2+T7+H4+1+2=16 = -

International Mathematics Contest (TAIWAN) F1H/H68



( C Y st » Awdlx33 g 8- BWF - H/ARWE S H

%£32$’¢ﬁ$é%ﬁﬁwj12$,ga%j§g¢17+ ]
G2 ol CHESTHEME R AT - RE AR | B
v Xy BHAe o % Bo * RP| T ATE -

(A)3 (B)4 (C)5 (D)6

<fRYT>
E A5 9:12-T=5 0 hfs - % 3|5 :32-12=20
7 £:20:5=4 2 » B - % el 4+1=5 =

(A REadI ' P32 BEiYe > T BEHT > 7MAZESE | pEE
=y
WDEH- BrH- OrdH= DHiPhe

<fEr>

573 3l (FeBiEBHe T BEYT)

b | pREEHTD6? 1 p A5 Y-

\-n

el o: » &5 &2 m@mE |
BEEfr 12 &8 Fa - PR

o
N

(CYo—5| g »agga 5o+ 2
?’ﬁ"ﬁﬂ BRI 2 o8
L & E R

(A)146 (B)147 (C)148 (D)149

BR3P g
.;L_ﬁ}; [)E3

— 1

f
\g{

<R
10X12=120
2X(12-1)=22
120+22+5+1==148

International Mathematics Contest (TAIWAN) g28/%268



( C)7. Use the each of digits 0~ 1 ~2~ 3 ~4 only once to form a five-digit number,

1 and 2 are adjacent, 3 and 4 are not adjacent. How many five-digit
numbers are there like this? (A)18 (B)19 (C)20 (D)21
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4. There is a addition puzzle with digits 3~4~5 has been filled out. How many ways
can the digits 0~9 be filled into the addition puzzle only once so that the puzzle

holds true? ways. []
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3. Sam has 137 stamps and Tom has 423 stamps. How many stamps must Tom give
Sam so that both of them have an equal number of stamps?
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423+137=560

560+2=280

423-280=143
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